o
+ =
e ey . - - 1 = -
Ki
— s - -
. Ke =
b -
L
FREE FEa—K JANT—F @B - X HRLO &K | hUR | #@# A BR B | BAEEE| ME Ji20
E#zyT 2y TERR 24k B/E-ER L 2 d K K4 ¥ | S®ESE| Type
L LN - S PN A—MLRL mm mm mm mm mm
T-H-HT-M3X0.5-1 391-2230 | 4989999093711 TRUSCO /\>K&yT7 % HSS—E M3X0.5 6H 46 18 4 3.2 6 3 9 Iy |HSS—-E A
T-H-HT-M3X0.5-2 391-2248 | 4989999093728 TRUSCO /\>R&y7 & HSS—E M3X0.5 |IBJIS2#% 4 4 4 4 ’ K 5 W 4 4
T-H-HT-M3X0.5-3 391-2256 | 4989999093735 TRUSCO /\>K#y7 FE HSS—E M3X0.5 K 7 7 7 4 4 7 1.5 K 7
T-H-HT-M3X0.5-S 391-2264 | 4989999093742 TRUSCO /\>R&yTtyb HSS—E M3X0.5 7 7 4 4 4 4 ” 7 7
T-H-HT-M4X0.7-1 391-2272 | 4989999093759 TRUSCO /\>K&yT7 % HSS—E M4X0.7 7 52 20 5 4 7 3 9 1 4 A
T-H-HT-M4X0.7-2 391-2281 4989999093766 TRUSCO /\> K&y i HSS—E M4X0.7 7 7 7 4 4 4 7 5 W K 7
T-H-HT-M4X0.7-3 391-2299 | 4989999093773 TRUSCO /\>K&y7 FE HSS—E M4X0.7 K 7 7 7 7 7 7 1.5l K 7
T-H-HT-M4X0.7-S 391-2302 | 4989999093780 TRUSCO /\>R&y7+tyb HSS—E M4X0.7 7 7 7 4 4 7 4 7 7
T-H-HT-M5X0.8-1 391-2311 4989999093797 TRUSCO /\>K&y7 % HSS—E M5X0.8 ” 60 22 55 4.5 7 3 9 W 4 A
T-H-HT-M5X0.8-2 391-2329 | 4989999093803 TRUSCO /\>K&y7 i HSS—E M5X0.8 4 4 4 4 4 4 ke 5 1 7 4
T-H-HT-M5X0.8-3 391-2337 | 4989999093810 TRUSCO /\>K&y7 E HSS—E M5X0.8 7 4 4 4 4 ” ” 1.514 7 7
T-H-HT-M5X0.8-S 391-2345 | 4989999093827 TRUSCO /\>RZy7+tyb HSS—E M5X0.8 ” 4 4 4 4 ke ke 7 4
T-H-HT-M6X1.0-1 391-2353 | 4989999093834 TRUSCO N\ R&y7 % HSS—E M6X1.0 7 62 24 6 4.5 7 3 9 7 A
T-H-HT-M6X1.0-2 391-2361 4989999093841 TRUSCO /\>K&y7 & HSS—E M6X1.0 K 7 7 7 7 4 7 5 W K 7
T-H-HT-M6X1.0-3 391-2370 | 4989999093858 TRUSCO /\>K&y7 E HSS—E M6X1.0 7 4 4 4 4 4 7 1.5 4 4
T-H-HT-M6X1.0-S 391-2388 | 4989999093865 TRUSCO /\>K&yFtyb HSS—E M6X1.0 K 7 7 4 4 4 K K 7
T-H-HT-M8X1.25-1 391-2396 | 4989999093872 TRUSCO /\>K&y7 % HSS—E M8X1.25 K 70 30 6.2 5 8 4 1] K C
T-H-HT-M8X1.25-2 391-2400 | 4989999093889 TRUSCO /\>K&y7 & HSS—E M8X1.25 7 4 4 4 4 ” 7 5 1 7 7
T-H-HT-M8X1.25-3 391-2418 | 4989999093896 TRUSCO /\>R%#y7 Lt HSS—E M8X1.25 7 4 4 4 4 ” 7 1.51 4 4
T-H-HT-M8X1.25-S 391-2426 | 4989999093902 TRUSCO /\>KR&y7tyk HSS—E M8X1.25 K 7 7 7 7 4 K K 7
T-H-HT-M10X1.5-1 391-2078 | 4989999093551 TRUSCO /\>K&y7 % HSS—E MI10X1.5 K& 75 32 7 5.5 8 4 9 I 7 C
T-H-HT-M10X1.5-2 391-2086 | 4989999093568 TRUSCO /\> K&y & HSS—E M10X1.5 7 4 4 4 4 4 7 5 1 7 7
T-H-HT-M10X1.5-3 391-2094 | 4989999093575 TRUSCO /\>K%&y7 E HSS—E MI10X1.5 7 7 7 4 4 7 7 1.5l K 7
T-H-HT-M10X1.5-S 391-2108 | 4989999093582 TRUSCO /\>R&y7+tyk HSS—E M10X1.5 7 7 7 7 7 7 K K 7
T-H-HT-M12X1.75-1 391-2116 | 4989999093599 TRUSCO /\>KR&y7 % HSS—E M12X1.75 7 82 38 8.5 6.5 9 4 9 1 ke C
T-H-HT-M12X1.75-2 391-2124 | 4989999093605 TRUSCO /\>K&y7 & HSS—E M12X1.75 ” 7 4 4 4 4 7 5 1 7 7
T-H-HT-M12X1.75-3 391-2132 | 4989999093612 TRUSCO /\>K&y7 E HSS—E M12X1.75 K 4 4 4 4 4 7 1.514 7 4
T-H-HT-M12X1.75-S 391-2141 4989999093629 TRUSCO /\>R&yTtyk HSS—E M12X1.75 7 4 4 4 4 ” 7 7 7
T-H-HT-M14X2.0-1 391-2159 | 4989999093636 TRUSCO /\>R&yT7 % HSS—E M14X2.0 4 88 42 10.5 8 11 4 9 1 7 C
T-H-HT-M14X2.0-2 391-2167 | 4989999093643 TRUSCO /\> K&y i HSS—E M14X2.0 K 4 4 4 4 ” 7 5 W 4 4
T-H-HT-M14X2.0-3 391-2175 | 4989999093650 TRUSCO /\>K&y7 F HSS—E M14X2.0 4 4 4 4 4 4 7 1.5 7 7
T-H-HT-M14X2.0-S 391-2183 | 4989999093667 TRUSCO N\ R&y7Ttyh HSS—E M14X2.0 ” 7 4 4 4 4 7 4 7
T-H-HT-M16X2.0-1 391-2191 4989999093674 TRUSCO /\>K&yT7 % HSS—E M16X2.0 7 95 45 12.5 10 13 4 9 1 4 C
T-H-HT-M16X2.0-2 391-2205 | 4989999093681 TRUSCO /\>K%&y7 i HSS—E M16X2.0 7 7 7 4 4 4 7 5 W K 7
T-H-HT-M16X2.0-3 391-2213 | 4989999093698 TRUSCO /\>K&y7 E HSS—E M16X2.0 7 4 4 4 4 ” 7 1.514 7 7
T-H-HT-M16X2.0-S 391-2221 4989999093704 TRUSCO /\>R&y7+tyb HSS—E M16X2.0 7 7 7 4 4 4 7 7 7
EmE RE — et | RE e o | mE
Trusco SAOPIIKAEA NARZy7T




